
Solution to Harvard Puzzle "Expansion" 

F E S I B L E E L E G
A N T B E E T L E R U
N T I P A D P A T E S
I K N A D A L T I L E
F E E T O V E R B E Q
U E S T R A B I E G A
L L E O N M E N T A L
A T E N D S M E S T A
L U N G E B A S T E T
I N G L E I N T O N E
M I L O R D S I N E R

 
The omitted letters (in parentheses in the list below) spell 

ALLSTON CAMPUS 

1. FE(A)SIBLE 
2. ELEGANT 
3. BEETLE 
4. RUNT 
5. IPAD 
6. P(L)ATE 
7. SI(L)K 
8. NADAL 
9. TILE 
10. FEET 
11. OVER 
12. BEQUEST 
13. RABIE(S) 
14. GALLEON 
15. MENTAL 
16. A(T)TENDS 
17. MESTA 
18. L(O)UNGE 
19. BASTE 
20. TINGLE 
21. INTONE 
22. MILORD 
23. SI(N)NER 

1. FAN(C)IFUL 
2. ALIMENT 
3. KEEL 
4. TUNIS 
5. T(A)INE 
6. SE(M)EN 
7. GLIB 
8. PATTON 
9. GLOBE 
10. ADORN 
11. DEER 
12. LEDA 
13. VAM(P)S 
14. BIDET 
15. PLEBE 
16. MANSE 
17. LATRINE 
18. STILE 
19. TIBET 
20. STONE 
21. RELEGATE 
22. NEGUS 
23. EQ(U)AL 
24. A(S)TER 

 

Kevin Wald solved the puzzle in 22 minutes. 


